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	Level
	Key Questions

	8
	· A 6 by 6 by 6 cube is special as its surface area and volume have the same value.  The cube is enlarged by a scale factor of 2.  What happens to the volume and the surface area now?  Explain anything you notice.

	
	· Two similar rectangles have areas of 18 cm2 and 8 cm2.  What is the (length) scale factor that transforms the smaller rectangle into the larger one?

	
	· Enlarge the flag here using a centre of enlargement (5, 3) and scale factor -2.
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	7
	· Enlarge the flag here using a centre of enlargement (1, 5) and scale factor ½.
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How many different transformations can you find that map the left-hand rectangle onto the right-hand one?  Describe each transformation in full
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Rotate the triangle 90( anticlockwise about the point (5, -1).  Now enlarge the triangle using a centre of enlargement (4, 4) and scale factor 2.



	
	· Use LOGO to draw a square


	5
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Reflect the rectangle below in the mirror line shown.
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Rotate the triangle 90( clockwise about the point  (7, 2)

· Now translate the original triangle by four squares left and 2 squares up

· Describe in full the symmetries of each of these shapes:
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	· Describe in full the symmetry of a square.

· How many lines of symmetry does a regular octagon have?

	4
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Reflect the shape in the mirror line shown.
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· Translate the triangle 6 squares to the right and 2 squares up.
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